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Q16
Exhibit:

[edit protocols aspf]

user@R24 show

overload;

area 0.0.0.0 { i
interface ge-1/1/2.0; | "5

interface ge-1/1/3.0;
interface ge-1/1/4.0;

R1

Referring to the exhibit, which two statements are correct? (Choose two.)

A. R1 will never forward transit traffic through R2.

B. Transit traffic from R1 to R4 will traverse R3.

C. The OSPF interface metrics on R2 are all set to 65535.
D. R2 stops sending LSAs into the network.

Answer: B, C
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Exhibit:

[edit] I

user@routeri show protocols bgp grpup ISE
export ISP;
neighboxr 172.16.20.20 {
peexr—as 65310;
1
neighbor 192.168.51.200 (
peer—as €65441;
}

{edit]
user@router# show policy-options
policy—statement ISP {
term ROUTES (
from {
protacol bgp;
as-path LOCAL-ROUTES 7

}
then accept;
¥

}
as-path LOCAL-ROUTES " (.%);

Your network is connected to two different ISPs and you notice that they are using your network for transit traffic.
In this scenario, which two configuration statements will solve this problem? (Choose two.)

A. set policy-options policy-statement ISP term ROUTES then reject
B. set policy-options as-path LOCAL-ROUTES "()"

C. set policy-options policy-statement ISP term REST then reject

D. set policy-options as-path LOCAL-ROUTES " (65310 | 65441) +"

Answer: B, C

Q18
Which two statements are true about what a route reflector does by default when distributing routes it has received from
reflector clients? (Choose two.)

A. It changes the default BGP attributes to inform peers that it is a route reflector.
B. It adds its cluster ID to the client-received routes.

C. It sets the next hop of all routes to "self' to prevent routing loops.

D. It does not change any received BGP attributes.

Answer: B, D

Q19
Which two statements about virtual links are correct? (Choose two.)

A. Virtual links are used for control plane traffic.

B. Virtual links are point-to-point.

C. Virtual links are excluded from SPF calculations.
D. Virtual links are bidirectional.

Answer: A, B

Q20
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Which two statements about IS-IS are correct? (Choose two.)

A. Level 1 intermediate systems exchange routing information with Level 1 intermediate systems in other IS-IS areas.
B. An IS-IS router sets the attached bit in the PDUs it sends to a Level 1 area to indicate that it is a backbone router.
C. A Level 1 router can only form adjacencies with other Level 1 routers.

D. Level 2 routers can form adjacencies with either Level 1 or Level 2 routers.

Answer: BC

Q21
Exhibit:
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You are receiving the same 200.0.0.0/24 BGP route from four different ISPs. Referring to the exhibit, which ISP's route
would be selected as active?

A. ISP-A
B. ISP-B
C.ISP-C
D. ISP-D

Answer: D

Q22
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AS10
il T EBGP
172.16.10.0/24 U

R1 R2 R3 R4

172.16.20.0/24

Your network connects two segments of your customer's network as shown in the exhibit They need to exchange
routes between Segment 1 and Segment 2 but both segments use the same AS number. Which two steps will
accomplish this task? (Choose two.)

A. Configure the routing-options autonomous-system loops | parameter on routers R1 and R4.
B. Configure the routing-options autonomous-system loops | parameter on routers R2 and R3.
C. Configure the BGP group with the as-override parameter on routers R1 and R4.

D. Configure the BGP group with the advertise-peer-as parameter on routers R2 and R3.

Answer: A, D

Q23

Exhibit:
il Level1 Level1 \
Area 49.0002 Area 49.0003

Level2
Area 49.0001

All adjacencies have been formed, no extra options have been configured, and no policies have been written.
Referring to the exhibit, which two statements are correct? (Choose two.)
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A. R1 cannot reach R5

B. R1 will create its own default route that points to R2

C. R2 will create a default route and send it as a TLV to R1
D. R1 can reach R5.

Answer: C, D

Q24

One Time!

You are asked to configure a series of interface policers and firewall filters, which include policers, on the same device
You must ensure that the two configuration methods do not conflict. What are two considerations when performing this

task? (Choose two.)

A. On inbound traffic, interface policers are applied before firewall filters.
B. On inbound traffic, firewall filters are applied before interface policers.
C. On outbound traffic, interface policers are applied before firewall filters.
D. On outbound traffic, firewall filters are applied before interface policers.

Answer: A, D

Q25
Exhibit:

user@rocuter> show route protocol bgp

562 destinations, 565 routes (558 active,
- = Laat Active, % = Both

inet.0:

+ = Active Route,

5.2.0.0/24 “[BGE/170] 1w3d 05:14:15,

AS path: I,

> t023.23.23.2 via ae8.0
to 1.1.23.2 via ae[.0
*[BGP/170] 1w3d 05:14:15,

AS path:

> to 23.23.23.2 via aeB8.0

T ——

0 holddown,

localpref 10000,
validation-atate:

localpref 10000,
I, walidation-atate:

5 hidden)

from 10.46.190.36
unverified

from 10.4€.1590.36

unverified

Referring to the exhibit, which statement is true?

A. The route is learned from only one neighbor.

B. This is a multipath route.

C. The route is learned from three different neighbors.
D. This is a multihop route.

Answer: D

Q26
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user@PE-1>show bgp neighbor 10.1311.111. 2 Il
Peer: 10.111.111.2+65154 AS 65512 Local: 10 111.111.1+179 A3 e5512

Group: MBGP-INT| | I Routxng—xnatanca"mastor I
Forwarding routzng—;natance- master i (l
Type: Internal State: Established | !lagaaH<£ync>h

Laat State: OpenConfirm | Last Event: RécvReepAlive

Last Error: None i

Optiona: <Preference LocalZXddress Addtasa!am;ly Rib-group Rafzeah> i

Addres=a families configured: inet-unicast inet-multicast inet-ypn-unicaat
inet—vpn-multicast ineté-—unicast Lnetﬁ—mulcacast inet&-vpn—unicast inet6-vpn—
multicast iso-vpn-unicast inet-mvpn 1net€-mspn evpn

Local Address: 10.111.111.1 Beoldtime: 90 Preference: 170

Number of f£lapsa: 0

Pesr ID: 10.111.111.2 Tocal ID: 10,111.3133.3 Active Holdtime: S0
Keepalive Interval: 30 Group index: 0O Peer index: 0O SNMP
index: 2 I i il [ MW
I/0 Session Thread: bgpic-0 State: Endblad I I wi
BFD: disabled, down i i
NLRI for restart conflguzed on peex~ xnet—un;caat ;nat—mule;cast inet-vpn-— \W
unicast inet-vpn-multicast ineté-unicast| ineté-multicast ineté-vpn-unicast %H
inet6-vpn-multicasat iso-vpn-unicasat inet-mvpn ineté-mvpn evpn i
NLRI advertised by peer: inet-unicast xnec-multzcaat inet—vpn-unicast inet—
vpn-—multicast ineté-unicast 1net6—mult1caut 12vpn ineté-vpn—unicast inet6é-vpn—
multicasat iso-vpn-unicast inet-mvpn ineté-mvpn evpn
NLRI for this sessicn: inet-unicast inet-multicast inet-vpn-—unicast inet—
vpn-multicast inet6—unicast ineté-multicast ineté-vpn-unicast inet&-venn
multicast iso—-vpn—unicast inet-mvpn ineté-mvpn ewvpn
Peer supports Refresh capability (2)
Stale routes from peer are kept for: 300
Feer does not support Restarter functiopality
Reatart flag received from the peer: Notification
NLRT that restart is negotiated for: inear—unicast inst-multicast inet-vpn-
unicast inet-vpn-multicast ineté-unicast ineté-multicast inetf-vpn—unicaat
inet6-vpn-multicast iso-vpn-unicast inet-mypn ineté—mvpn evpn
NLRI of zeceived end-o £f-rib markers: inet-unicast inet-multicast inet-vpn-
unicast Lnet-vpn—mu’txcnst inetb~unicast ineté-multicast inet&—-vpn—unicast
ineté-—vpn-multicast iso-ypn-unicast inet-mven ineté-mvpn evpn
NLRI of all end-of-rib markers sent: inet-unicast inet-multicasat inet-vpn-

unicast inec-vpn-multicast ineté-unicast ineté-multicast inet&-vpn-unicast

insté-vpn-multicast iso-ven
Deer does not support LLGR Restartexr functionality
supports 4 byte AS extension (pesxr-as ©

“finicast inet-mvpn ineté-mven =vpn

=:<'-\)
Peex

Pear does not suppert Addpath

- - + 0 Bits DZDOOO
Table inet.O Brt: LUOUU

The exhibit shows a BGP peering session for two PE routers. The BGP session is up, but the hosts in the Layer 2 VPN
that uses the BGP session are unable to communicate.
What is the problem in this situation?

A. The BGP peer does not support the restarter functionality.

B. The local BGP router does not support Layer 2 VPN and Layer 3 VPN NLRI address families at the same time.
C. There is a mismatch in the supported NLRI address families between the BGP peers.

D. The BGP peer does not support the add-path feature.

Answer: C

Q27
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(65001)R1——— R e R3 (65001)

[edit]
user@R2f# run show route 11.11.11.0/24

inet.0: 11 destinations, 12 routes (11 active, 0 holddown, O hidden)
+ = Active| Route, - = Last Active, * = Both

1T.31°.31.0/24 “« [BGP/170] 00:04:55, localpref 100
AS path: 65001 I, walidation-state: unverified
> to 172.16.1.1 via ge-0/0/0.0
[BGE/170] 00:10:33, localpref 100
AS path: 65001 65001 I, validation—state: unverified

[edit]
us=sr@R2§ show protocols bgp
group R1 {
neighbor 172.16.1.1 {
pasr—as 65001;
3
i |
group R3 {
neighbor 172.16.2.1 |
peer—as 65001;

[=dit]
user@R2§ show policyoptions
policy—-statement 1b {
then |
load-balance per-packet;
¥
2 |
policy-statement prepend | h
term 1 {
then as-path-prepend 850017

R2 is receiving the same route from R1 and R3. You must ensure that you can load balance traffic for that route.
Referring to the exhibit, which two configuration changes will allow load balancing? (Choose two.)

A. Configure muitipath under group R1.

B. Configure muitipath under the global BGP configuration.

C. Apply the prepend policy as an import policy under group R3.
D. Apply the prepend policy as an import policy under group R1.

Answer: B, D

Q28
Why do jnterprovider option B VPNs scale better than interprovider option A VPNs?

A. The ASBRs in interprovider option B VPNs only carry internal routes.
B. The ASBRs in interprovider option A VPNs do not need per-VPN VRF tables.
C. The ASBRs in interprovider option A VPNs only carry internal routes.
D. The ASBRs in interprovider option B VPNs do not need per-VPN VRF tables.
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Answer: D

Q29
Exhibit:

user@router$ run show route extensive table bgp.evpn.0 | £ind
1:10.101.100.3:0::222222222222222222 : : FFFF:FFFF/192 ‘
1:10.101.100.3:0::222222222222222222 : FEFE: FEFF/192 AD/EST (1 entry, 1
announced) I

TSI [
Page 0 idx (0, (group IBGP-EVEN-FOD1l type Internal) Type 1 val 0x1022f36c
(adv_entry) I
Advertised metricsa:
Nexthop: 10.101.100.3
Localpref: 100
AS path: [65100)] I
Communities: target:1:100 encapsulation:vxlan(0x8)
active (label 0)
Page O idx 1, (group IBGFP-EVPN—Core type Internal) Type 1 wval Ox11cf£588
(adv_entry)
Advertised metrics:
Nexthop: 10.101.100.3
Localpref: 100

AS path: [65100] I
target:1:100 encapsulaticon:vxlan (0x8) esi-labal:0x0:all-

esi-label:0x0:all—

Communities:

active (label 0)
Bath 1:10.101.100.3:0::222222222222222222::FFFF:FFF?

Vector len 4. val: 0 1
*EVEN Breference: 170
Next hop type: Indirect, Next hop index: O
Addreas: OxccdS5£90
Next—hop reference count: #3071
Protocol next hop:; 10.101.100.3
Indirect next hop: 0x0 - INH Session ID: Ox0
State: <Secondary Active Int Ext>
Age: 8wld $:56:33
validaticn State: unverified “

Task: default evpn__ ~even |
Anncuncem=nt bits (1): 1-BGP_RT Background
AS path: I

Cemmrunities: target:1:100 encap=ulation:vxlan (0xd) eali-

Referring to the exhibit, which three statements are correct? (Choose three.)

A. This route contains the MAC address of an end host.

B. The router with the IP address 10.101.100.3 is the originator of this route.
C. This route is an EVPN Type-1 route.

D. This ESI Auto-Discovery route is used for designated forwarder election.
E. The ESl is 00:22:22:22:22:22:22:22:22:22.

Answer: B, C, E

Q30

Exhibit:

Referring to the exhibit, a Layer 3 VPN is configured, however, the routes are being hidden.
What is the problem?

A. A route distinguisher mismatch exists between the peers.
B. A VRF target community mismatch exists between the peers.
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C. The BGP peer is not reachable through the IGP.
D. An active MPLS tunnel does not exist between the peers.

Answer: D

Q31
Exhibit:

e T

user@router> show bgp summary
Threading mode: BGP I/O
Groups: 1 Peexrs: 1 Down peers: 0

Table Tot| Paths Act Paths Suppressed History Damp State Pending
inet.0

0 0 0 0 g o
Peer A8 InPkt OoutpPkt outQ Flaps Last Up/Dwn
State | #Active/Received/Accepted/Damped. . .
192.168.1.2 64512 33 33 o 1 g I $ % i
Establ

inet.0: 0/0/0/0

user@router> show route advertising-protocol bgp 192.168.1.2

ussr@router>

user@router> show configuration protocols bgp
group noxthstar {
type internal;
local-address 192.168.1.1;
family inet {
unicast;

}
neighbor 152.168.1.2;

You are troubleshooting BGP routing issues between two MX Series routers. The BGP session is established but no
BGP routes are being communicated.
What are two reasons for this problem? (Choose two.)

A. The peer type should be external.

B. No active BGP routes are in the inet.O table
C. table ii No export routing policy is applied.
D. The peers are in different ASs.

Answer: B, C

JN0-663 Exam Dumps JN0-663 Exam Questions JN0-663 PDF Dumps JNO0-663 VCE Dumps

https://www.braindump2go.com/jn0-663.html



https://www.braindump2go.com/
https://www.braindump2go.com/
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/

